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Physics
In astronomical telescope, the focal 1. ety BAOEIEITEY WA
lcngthsvofcye lens (f) and the object %‘egx HRATE RN TwRT (1)
lens (f,) are such that HF TA DRRTT WO BRY
/o 0ed Ul ?
. . e

Qf f, st ‘()_}4 (1 f,<f,
. . ) 5 0 C
(3) tu > fL Q& (2) f() < f"
@ 1=t 3 f,>f

4 f =t
Which of the following property of 2. &8 YN I3 03 ATEPID)
light does not support the wave AL Zoon %6580338’%

nature of light ?

(14 Photo electric eftect
(2) Interference

(3) Diftraction

(4) Polarisation

The electromagnetic radiation which
is the cause for green house etfect on
earthis

(l)k Ultraviolet rays
(2)
(3)
4y Infrared rays _

Radio waves

Microwaves

A person uses a spectacle of power
+ 2D. Then he is sutfering from the
eye defect

(1) Myopia

(2) Presbyopia

(3) Astigmatism
(4) Hypermetropia

w

HRETORIHAY !

(1) D3N3’ OB
2) aizsaeédaa

3) TSI

4) GHeITeD

Pednad el TAD AN
Aol DAV O0EDTINTED TR
TITLIT 5)63%39 Fo0SCOD NETED,
(1) SBeoeeded TN

(2) Beaodee SToNNd

3) ma s ITOMIND

(4) TROR) VTN

202 ﬁgoﬁw + 2D mabcp‘és‘adad
BTN 2058, CpIaAPI~Te]
BT WYNIHT FRIREST &OF,

(1) R0eam Gpcdes
(2) PR

(B) UR GRTRR
4 s dd&edma’
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A body of mass ‘m’ kg is lifted by a
man to a height of 1 m in 30 seconds.
Another man lifts the same mass to the
same height in 60 seconds. The work
done by them is in the ratio

B 1:2
2 2:1
3) 1:1
4) 4:1

A body of mass 5 kg is dropped
from the height of 10 m above the
ground. Then the loss in its potential
energy when it reaches the ground is,
(g.=9.8 ms™)

(B 4901
(2) 240
(3) 06221
4) 340

The energy gap between valence
band and conduction band in a

silicon semiconductor is

(1) <8eV
(2) <6eV
(3) <SeV
(4y <3eV

Which one of the following is the
Einstein’s photoelectric equation ?

1 )
(1) hv=hy, Smve

| 5
‘) = +—— -
(2X hv=hy, Smve
2

]
(3)‘ hv,=hv + ymve

2

1
(4) hvy=-hv—3 mv-

3

202) BBO30 ‘M’ kg FZ00® RTVES
SBIY, 30 RBomTned | ave
DITE, DTS, WHBRLY) FFoo
vde ISR, 60 RBoENY
I ¢ DT3B, 228N, ToMLT &3
Q2T TINY FURT VDTS

(n 1:2
2) 2:1
3) 1:1
“4) 4:1

S ke GEOedOnREy  BR0BT
FODERy, HADD0E 10 QerTS
230005 YR Dimrt, B ot
obty BB TGS TR,
BYod JOTed (g, = 9.8 ms™),

(1) 490
(2) 2401
(3) 6221
(4) 3461J

2058° WTHIBIHONE  TXI
EJ"Z‘% (Conduction band) &033 36&35?\,
e._o’ééi (Valence band) Q@)ne <@
QT JFOD WoTT

(1) <8eV

(2) <6¢eV

(3) <5eV

(4) <3eV

& TYAS ‘S&DG%’GS@K*J@ ojnaé)da
6055\?\:;&}3@636 65353 53553639
TOBITT BNCTT LTINS ?

, 1 5
(I) hv=hy, My

| ,
2 = —mv-
(2) hv=hv,+ Smve

2

1
ol —_ p—
(3) hv,=hv+ 3 MV

1
(4) hv,=-hv- 5 mvnz“u.

%+ PS
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This is the truth table for the logic

gate.

INPUT | OUTPUT
A|B Y
010 1
011 1
110 1
1 1 0

(1) AND gate

(2) OR gate

(3)  NAND gate

(44 NOR gate -

convert

The used to

alternating current into direct current

device

is

(1) Capacitor
(2¥ Diode

(3) Transistor

(4) Resistor

The dopant which is to be added to a
pure Semiconductor to get p-type

semiconductor is
(13~ Phosphorous
(2) Antimoney
3y Aluminium

(4) Arsenic

“)

9.

10.

11.

3 @@éédo&i a’é?sodvﬁgl ABTEI-
obaN (Truth Table) BHODTIE
3Fceronen (Logic gate)

BN | anEwd

Y

A | B
010
0 (1
110
1 1

1
]
|
0

(1) AND riees®
(2) OR reest

(3) NAND rieess
(4) NOR riees®

TOJEOR :3553539 eamd o]
amégmdﬁ TOTcHen  wYRS
TP

(1) JZoe30°

(2) d{p&oeczﬁ
¢) wRFS

(4) BrmYTT

B3 VAT oS word od
TTPEDTY abcg lep3:1 )
Redoon e p-  Oedod
B SoBTROIE ?

(1) Tows

(2) e3083:0Q

(3) e.-ae)aéaaé’bojao

(4) &SRB
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A simple pendulum is moving in a
periodic motion with period T. If its
length is increased by 4 times, then

its period,

(1y Decreases by 4 times
(2) Decreases by 2 times
(3) Increases by 4 times

(4) Increases by 2 times

In a simple harmonic motion,

acceleration of a particle is

(1) Directly proportional to its

displacement and  directed

away from the mean position.

Directly proportional to its
displacement and  directed

towards the mean position.

(3) Inversely proportional to its
displacement and directed

away from the mean position.

(4) Inversely proportional to its
displacement and  directed

towards the mean position.

q 99"({(%

)

12.

13.

83T BOSZoDY  BORTHES
20T FOYSRCLIT ST T WS
T. doeosd wogssy 4 By
BTN VT STIEF VSO,

(1) 43 BRZ03PMIA
(2) 2 Sedy FRB0MHIR
(3) 43 Do

&3 =

(4) 2T B3
[ %] 2 -0

ROY "onS 23@)3303)@2 za‘é’)zb%doﬁ
20T FODT Berines,Te ),

(1) oo m@swguﬁﬁ 3T -
TIEQHIB HFy WD
0P TG BT SENTHIT,

(2) ©oT mMSBYLE, T V-
TITYHIR DI A3
ob B, FEATHIT.

(3) v RIITYLIE,
DBRTRRHTBFOTIE
H FeDRSoH &)dad@ aLAN
3BAHIS.

4) oo TITYLT,
DSRBRRHTBEOTIE
T BDIBD O8I
BEATHIS.

% PS



14.

16.

% PS

When an electron jumps to the
second orbit (n, = 2) from any
higher orbits (n, = 3, 4, 5. ....) then
the obtained spectral series 1s

(1) Lyman series

(2) Brackett series

(3) Paschen series

4y

Balmer series

The value of Rydberg’s constant is
(1Y R=1.0693x 102> m™!

¥ R=6.023x10""" Nm™

(3) R=1.0973x 10""m"!

(4) R=1.0973x10"7m"

Which of the following graph

represents the correct dependency of

speed of sound (V) on the pressure of
the medium (P) ?
A
(8 S
(1)
y
p— ~
ﬂ\
(2 T
v
P— >
A
o 1
P— ~
A
w0 1
— -

(0)

14.

16.

2,08 ‘&@%ﬁe BPS BT LN
n®om (n, = 3. 4. 5. ...) V&I
Bo3w R (n, = 2) BATN
DTE B3 BeedT Jeed,

(1) dgnaﬁ 3eed

(2) 2R3’ Beed

(3) méegpe Beed

(4) 2o’ 3ecd

81 VAR oI DESUNTET 4T
R03d,039NE3 2 ‘

(1) R=1.0693x 10> m™
(2) R=6.023x10""" Nm™
(3) R=1.0973x 10" m"!
(4) R=1.0973x 107 m"!

g NS ods sdessy (MFHY)
Bus Sty (v) e WO
SREEHE  wIER  (P) BoedF
V0TS 0DFY BRAPETA ?

—>
(h 1
¥
P
r
o 1
P
A P— -
o 1
¥
P
ﬂ\
(4) 1
Vv
P>
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18.

19.

In the lite cycle of stars the end stage
of massive stars [mass 30 times that
ot Sun] is

(1) White dwart

(2)7 Neutron star

(3) © Black hole

(4)» Black dwarf

The total mass of milky way galaxy
is around

(1¥y 3x10¥kg

(2) 3x10*kg

By 5x 103 kg

() 8x 102N kg

The space craft which discovered the
ring system around the planet Jupiter
is

(ry
(2) Rover Space Craft

(3) Columbia Space Cratt

(4) Rakesh Sharma Space Craft

Voyager Space Cratt

Number of protons, neutrons and
electrons present in Zx%:’Ra in
respectively are

(1) 226,88 and 138

(2) 88,138 and 88

(3) 88,88and 138

(4) 88,226 and 88

)

17.

I8.

19.

20.

STINY 2SS WIRY  Ymet

ST,ZND [T 3 023 BRoDETID

AoZ 30 Jey =] oSS
1%} U ) )

28,

[

() 3= By

(2) SRS ITZ,

(3) 3P,BP

4) 3BT Q'c’ozg

T  Td  Nendod
q)wéméomﬁoaisado,

EAIXV)
£}

() 3x10%kg
(2) 3x10*kg
(3) Sx10Mkg
4) 8x10%kg

MOOOTIE .0 00THT SEFoDRy
SIwY S SFpead T2

(1) &oodexot ai;aéea:b NoF
(2) Tre=T® R J9F

(3) FIRWONDCIP ai@éeab Lk
(4) TIBeD’ TIor dpéem SoF

TRa HOTOE FHPLIITT, SREIDI
B Qda?g’mﬁv wosjo3n
gadaoN,

(1) 226,88 @y 138

(2) 88,138 03y 88

(3) 88,88 ) 138

(4) 88,226 ) 88
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21. The radius of the circle is measured 21, L0 [IT SIS, @PoIVN
3 A
with the maximum error of 2%. 08T TIOR BRCR 2%. TIMIES
Tl X1 ‘ror in it ea i ._.ao Y
hen maximum error in its area is o] %e% FUBY YV0ERMHT TOF
(1y 1% oReR
(2) 4% : (1 1%
3) 2% 2) 4%
@ 6% 3) 2%
4) 6% _
22. In the given figure AB is the small 22. %’.@%ﬁad WSwd AB oo I :353?539
current element carrying the current %mgd(—\% BROOTE D ;)ngégs‘
I. Then the magnitude of magnetic oINS, B R Z)CSDZE" BN
’ i

field at ‘P’ at a distance of ‘r’ from

X 0T 1 TATEOSHI P Dotd
the current element 1s &

DT V0TI a—aoé%egw 205069,

P
B ) - /7 “
d/
A
1
Ky 1d/sin @ Mo 1d/sin @
), dB=—2—35— LLaldisngy
( )/ a 47.[ = (l) dB 4TC 1.2
_Hold/sin® Mo 1d/ sin 6
(2) dB=3-—, @ dB= —.
, Hy 1d/sin 6 . My ld/sin©
() B= pX S (3) dB= 2 12
Ky Id/sin 6 _ Mo 1dlsin ©
4) dB= EE——-I—— (4) dB= o -

23. The dimensional formula for the 23. 88 FINIYNTD  0oH Jo3
Physical quantity FORCE is TOBPHDIE  WOT 8o
() [MLT] BRZFNS ?

) [ML*T3 (1 [MLT?]
Gy [MLT?2 (2) [ML?T7]

(3) [MLT]

4 ML" T2
4) [ ] (4) [ML() TvZ]

=+ PS



@. The value of the resistance of the

2

5.

2

7.

,(Z/{w'*ry'«“

carbon resistor having the colour
codes, Red-Red-Yellow-Gold, is

(17 33x 107 +5%Q
(2) 44x102£10%Q
(3) 22x101+5%Q
4) 22x101£10%Q

The device which is used to compare
the e.m.t. of two cells is

(1) Meter bridge

(2) Potentiometer

(3) Sonometer

(4)* Wheat-stone bridge

In the given network the quantity of

current  flowing  through  the
galvanometer is

(1) Zero Ampere 2 %V
(2) Four Ampere z %v
(3) Two Ampere

(4) Eight Ampere

“The polarity of induced e.m.f. is
such that it opposes the cause which
produces it.”

This statement is popularly
called as

(1) Lenz’slaw
(2) Faraday’s law
(3) Curne’s law

g()'4) Stefan’s law

&)

24.

26.

27.

Bomy)-Fogy-meR-28y, 83 2Ny
ﬁoéea‘aﬁaﬁ;’l BROATVT RO
BReFIT SRFT 238,

(1) 33x10P+5%Q

(2) 44x10°£10% Q

3) 22x101+5%Q

4) 22x101+10% Q

TB ST ZRC3NY Navicy as%e)‘c“
VT, BRCORW) WIRE T,

(1) 0ee3Tt He=d

2) YT SsT

(3) Reedee oot

(4)  Qeestxt pAce)

& womd  wend mwdee
MCEITTR  ReT TOOIVT
DI STOTE?,

(1) =g, sokest

(2) Down, Boaeot
(3) T soBeo?
(4)  Dotd soBeot

G acioéasas%@é WD
QB TENTHIBcTT, A LVIZ-
O3INT FITEITY, T, T0eHRIR".
B ZanRE TedIoday Sertomd
FB03030

(1) &I dodas
(2) e—@éo’cgoﬁa 2ODTD
(3) BRDOH Donm
(4) 2P T oD

+ PS



28.

A body is moving in a circular path
of diameter 14 cm. After time ‘t’ it
completes one rotation and comes to
The
displacement and distance travelled

the original position.

by this body in respectively are,

29.

(1) 88 cmand 88 cm
(2) zerocmand 88 cm
(3) 44 cmand 44 cm
(4) zero cm and 44 cm

Identify the vector quantities.

(a)

Electric Potential

(b) Radioactive decay
(¢) Pressure =¢*>
(d) Impulse

(e) Torque 7

() (a)and (e)

2y (d)and (¢)

(3) (a)and (b)

(4) (c)and (b)

A person is sitting in a travelling

train and facing the direction of

motion. He tosses up a coin and the
coin falls behind him. It can be

concluded that the train is,

(1) Moving forward and gaining
speed.

(2) Moving forward and losing
speed.

(3) Moving forward with uniform
speed.

(4) Moving backward with

uniform speed.

(10)

28.

29.

200D TodY 14 cm mé?ﬁadoaﬁ
EaIA)) 73333_%63 ‘t* RDODTE 207D

BRI, FONR B, m@@sé& 200D
- Q@

Zoy3R. BN FODE  RYSHYL

DR 23O/T TRTNFo BN,
(1) 88 cm O 88 cm

(2) A cm =R 88 cm

(3) 44 .cm DR 44 cm

(4) AP cm DI 44 cm

H FIAIYNYEY =BT SOTee-
nvay MHO3ER.

(@) IW/S® A DN

(b) NITED Jek %oda ,jgcaoé
(c) ugw

(d) esaen (RoTY)

(e) apg)aﬁos (£393%€)

(1) (a) @R (¢)

(2)  (d) =R (e)

(3) (a) &R (b)

4)  (c)HFR(b)

202, IOV WO 6@5@ 3o

aﬁé’)zba a3 = [RE P

2,000 mtaaﬁa’n Sewd, WNmeN

&8 [T eww 3033 2‘1)638 éﬁ’dv

i@%’aw BOIE 5y, TEL

1y ;Sm:ba eson wé’):aéd DAY
233 (ﬁeﬁ)a’?b wcSoSaaérj

(2) Soosxn,eueeN BOREB R
zsas(ai’eﬁ)sab seﬁmi@%éd

(3) 0e,8eeN go’ uﬁ(aﬁen’)
aom 3OS,

(4) Hanwen AT eI (Eem)

pos  WORHIT.
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Two bodies of mass m, and m,

separated by a distance ‘d’, then the
of

between them is given by

gravitational  force attraction

m;m,
(l ) F= dl
| mm,
’) = . B =
@y F 4ne, d-
1 m;m,
3y F= 2ne,  d?
m;m,

The weight of a body on the surface
of the earth is 98 kg and its weight
on the surface of moon is 16.2 kg.
The value of acceleration due to
gravity on earth is 9.8 ms—2. What is
the value of acceleration due to
gravity on the surface of moon ?

(1) 1.62ms™>
(2) 16.2ms™
3y 0.162 ms™
(4) 162 ms™

On which of the following factor the
moment of inertia of a body does not

depend ?

(H

(2)a Nature of distribution of mass.

Difterent orientation of axis.

(3 Angular velocity.

Axis of rotation.

(4)

(11

7]
'

QTR FToONNY @3250‘33 m, RN
m, THT BYNY FBIS 03T *d”
[/N, & OINY @B
enoL3IMO mdozs%éa’sea WO,

l]]ll]]z
(1 F= dZ
[ mm,
(2) F:&_EE(;' d?
1 lT’x]n‘]z
(3) F:TE”' 12
lnllnz
4) F=G 42

2,00 FIONT BHT RO 7068l
98 kg = @de FoNw BT
Boms  ed 162 kg @i
PRMTNE, Serteegmesy 9.8 ms
BGES  Worgs  Hed  mHOvE,
Serieegme o 23 o) ?

() 1.62ms™
(2) 16.2ms™
(3) 0.162 ms™
(4) 162 ms™

2000 TIONT BEI) DITIY) 8
BPNT 03w WoTTRY, WWod-

ATOHOY ?

(1) Bodw &‘)%;CS AT
SSneyried.

(2) BONT FFTdOD NITBOD
™ED.

(3) BReeod Jen.

(4) o3z STICR.
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A straight bimetallic strip is made up
of copper (o = 1.62 x 107° k1) and
iron (o = 1.20 x 1070 k"), If this
strip is heated to a high temperature,

then it will

(1) bend with iron on the outer

side.
(2) remains in a straight condition.
(3) betwistedtoa helix.

(4)~ bend with copper on the outer

side.

Which one of the following is not

the part of Petrol engine ?
(1) Piston

(27 Fuel injection pump
(3) Carburettor

(4) Spark plug

The relation between escape velocity

(v,) and orbital velocity (v,) of earth

is

() v.,=~2v,
) \/0=\/§.vc
3) 0=\ 2V,
@ v =\/§.v

(12)

35.

2,000 0T QHSRET TFoD,
e, (o0 = 1.62 X 1070 k1) &0y
't!’?f)sa (@ = 1.20 x 107° k' dem
m&’mﬂzﬁ 8 B[EIodbay 2U

W@:%gﬁ ad’)afomﬁ &ei@eﬁ

c;‘.>’é30333

(1) DT Tegown BULRN-
d@dzaﬁoé mmsd

) udmaseammﬁ
Seomonode achgd

(3) 2O, ELpielald)
'-,:‘pa‘_op'&rae,fggcﬁ

@) DT BYodo BRTYRN-
BB LRTHIT

& YRS O w00 LN
Bednpaf 202373 2JN-
DINTHPHDY ?

) &Tv;

(2) oS faozi’a;zsf ozt

(3) Bodpedeeso’

(4) 3&IB

2300 DSREITIEN (V) TR

ﬁmﬂd’eﬁ v,) eRNY SRS
ROWOT,
M v.= 2V,

@ v,=\2v,
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40.

The opticél tibres work under the
principle of

(1) Refraction
(2) Dispersion
(3) Polarisation

(4)r Total internal retlection

In the given figure, M, and M, are

the plane mirrors. The angle between
them (8) = 60°, then the number of
images of the object ‘A’ formed are

(1)
(2)
3)
(4)

The type of mirror used by the dental
surgeons as inspection mirrors to
view the dental cavities is

(1)  concave mirror
(2 convex mirror
(3) plane mirror

(4Y” plano convex mirror

If the temperature of a black body is
doubled, then the amount of heat

radiations emitted by it per second is
<)
(2)
3)

(49~ remains same.

increases by 8 times.
increases by 16 times.

increases by 32 times.

o ¥

13)

37.

39.

40.

@ oD Feoutned &5 YA
Y83 oo @f%d edd dox
ST 2

(1) =3eelss

(2) BTTHDT

(3) cg)aeédea

(4) Fogpess $030F SAFU

3RLITOT WSO M, Hy M, ried
ADZY  TTENYINS.  ayHny
SRS Bee (0) = 60° QYN XY
‘A’ S T 3DowNYd RS 750335,

(1) 3
(2) 4
(3) 5
4) 6

oo3 afepédomfo To3 %odm’emgt
aeéﬁ’w WYRDT TJET P,

(1) e, oIees
(2) % TJeed
(3) A3V TJced

(4) APV ¢ TJeed

LOR B Foohn  wogdoday,
T w“’é&% £a§fqmﬁ ZInteleln]

cfo.mo’wdoaf , ema‘g NFTINY
BF00wy T RLosA,

(1) 8@ Beuhzal

2) 16 =ed) éas%gcﬁ

(3) 32 Ty BepIAd

(4)  ohoyrde wrewRss Beomydw
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It the points (a, 0), (0, b) and (1, 1)

41.
. [
are collinear, then 7+ =
a b
(1y O
2y -1
(3 2
@ 1
42. In the given tigure, ABCD is a
rectangle in which segments AP and
AQ are drawn as shown find the
length of (AP + AQ).
D Q C
30°
Pl
30°(*30 cm

l

‘Aé—-———"— 60 cm — B

Tl

(h 90

2y 100
3) 120
4y 180

If the co-ordinates of P and Q are
(a cos 6, b sin ©) and (-a sin 6, b cos 0)
then OP2 + 0Q? = &{V

2ab

(1) w\\p
(2) a+b - *b ot
(3) ab B0

(4) a+b’

Mathematics

41.

42.

(a, 0), (() b) &=y (1. 1) DOTIN

‘deéd’ezmﬁsmﬁ 655 Slaln Jk; =

(1) 0
2 -1
3) 2
O
ABCD ©@o»3nd AP a3 AQ
Seanpomnday BIEO 3002
So3  oP9obwdnd. TGS
(AP + AQ) & &0C&Y

Q ¢
30°

P

30°]1 30c¢m

l

A e——060cm — B

43.

(1) 90

) 100

3) 120 o\ A
(4) 180 o0

P &3 Q 0¥ NBECT0TIND
gabasaﬁ (a cos 0, b sin ) T
(-asin 6, b cos 0) es333, OP2 + 0Q* =

(1) 2ab

(2) a+b

(3) ab
a-t+b-

(4) 2 2 .



(15) \

44. 0.01 is what percent of 0.1 ? 4. 001 3 o 3ezmo FEvoeasy 0.1
1 BT ?
D T -
oL (1) 100
) 7o |
b —_
(3) 10 ) 7o
(4) 100 3) 10
o | 4) 100
45. It 5% more is gained by selling an 45. om TWTI, T 350 3, S0d-
article for ¥ 350, then by selling it DTVOB 3% TR, B, -
., for ¥ 340, the cost of the article is mmgd escde Ugﬁﬁgt ; 340 'u’&
Sy R50 S9003, &8 SROT YR 23
(2) T 160 (1) 50
(3) 2200 (2) X160
- (3 T200
(4) %225 @) T225
46. If the line segments joining the 46. MQ)'ATéN&OCS (a, b) &R (c, d)
points (a, b) and (c, d) subtends a  DondnR P95 BeansoEned
right angle at the origin, then which e)owé\@eg;j@t ' V0L TN,
of the equation is correct ? §Qﬁgg\3)ﬁqgwﬁ FiteTersning
(1) ac~-bd=0 ReNCTOED,
" (2) ac+ced=0 310),-,&\% (1) ac-bd=0
3) ab+bd=0 >~ e (2) ac+ed=0
\ (3) ab+bd=0
(4) ab-cd=0 . R
S \0° (4) ab-cd=0
lw 0(\
-
47. Ifsin © + cos O = \/5 cos (90 - 0), @ 47, sin 6 + cos 6 = \/5 cos (V0 - 9)
then cot 6 is equal to 803, cot 8 I
2 (1) -2 _
' ) =T
2 2 U 2) 2. ©
< 3
(3) 2+1 ¢ g () \2+1 %‘2 ™
‘ . L’
(4) \/5“1 (4) \/5—1 , )/7@(}) /u,

®ED #ps




48.

In a classroom, there are ‘X’ seats. It
each student in the class occupies
one seat. then nine students remain
standing and if two students occupy
one seat, then seven seats are left
unoccupied, the number of seats in
that classroom will be

(1) 23
2) 32
(3) 18
(4) 25

Ina AABC, ZA=3 LC=2(£B+ £O0),

then the measure of ZB is

(1) 20°
Q) 40°

3)  100°

4)  120°

qu. HYO

In figure, find the radius of the inner
circle if the other circles are of radii

en?

(16)

48.

49.

50.

2,00 IONBoHD v SHSNDE.
2,000 BRIGE iy, TAPE TP
200ETS, 2,008 DEWAREN (St
DT Do&@@@%@ﬁ HZY 2.0
SRIBE STE DTYREN 3D
2003, H¥ YRIND O -
o30Zas. TIOR3 STNBoHATO

SRING T-\iosf!?3
(1 23
2) 32
3) 18
4) 25

AABC op® LA =3 £C=2 (LB + £C),
=58 /B S 993

(1) 20°
(2) 40°
(3)  100°
4) 120°

SO ey, [PNY  BHNH
‘2 SNGY, LYNEOmE FE6
o

(1
).

(3)
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54.

c .
= then the value of

(b
2)
(3)
4)

~ = W

The factors of x* + 4y* are
(1) (2 +2y* +2xy)
(32 + 2y + 2xy)
) 42y 2y
(3)
(4 (7 +2y - 2xy)

(2 +2y? + 2xy)

(2 +2y?) (% - 2y%)

If 2x + y = 3 and xy = 1, the value of
(x+y)yVis

(h O
2) 1 [*UPS] A
3) 10 3 A
4y 100
9
The L.C.M. of ? % & %is
2
(D 3
6
(2) 35
(‘w) &
J 25
9
i
@) 24 \/.7(V |
SE e
waw
?L'
o™ L

S3.

54.

—
=
S

—_
2
e

~ W

¥+ 4y' O uBIBEINED

(1) (2 +2y>+2xy)
(x2 +2y* + 2xy)
(2 +2y?) (2 +2y?)
(% +2y%) (P - 2y%)
(x> + 2y2 - 2xy)

(,\~2 + 2y2 + 2xy)

vty =3 @Ry =1833 (x+y) Y
AL

() o

2 1

3) 10

@) 100

26 3 S amyny

5 25 R 35 AT O
2

m 3 (nge

‘ 6 )\// §

) 5z PALY y
25 b\"& (VS
8 =

3) 5 Vv

\ -

@ % St
5

WL{QP\ C'%'PS



The polynomials (23} - 5x2 + x + a)
and (av? + 242 - 3) when divided by

(x — 2) leave the remainders R, and
I

R, respectively. The value of ‘a’ if

R,=R,is
() -1
2 1
3 -7
4 7

56. Which one among the following is
always factor of' (x" - 1) ?
(y x+1
2y x-1
(3) ~+1
(4) »-1
57. The product of‘V‘_) + W - {/Ti and
its conjugate surd is
() 1 ‘,,\7/’
2) 7 @g&v (Y
3 13 |
@) 19 Ay
* PS . 6

(18)

55. (2 - 51 +x+a) I (ax® + 2% - 3)
WBOTBRINGSY, (v - 2) o
HRNATON FewN R aHF) R,
Jexned evPodndB. R, = R,
SAGS ‘a2’ &Y
() -1
) 1
3) -7
4) 7

56. 83 IINSPYNYY  owonew

o (W — 1) WRSBRCTOD
2,003 BBRSE TN 2

(1) x+1
2) x-—1
(3) " +1
4) -1

57. {9 + 16 - Y12

P ass
i% Uﬁ%yaweésadcs OO
a (n 1
(2) 7
(3) 13
“4) 19



60.

If the sum of the interior angles of a
polygon is 6 straight angles. Then
the number of sides in polygon will

be

( 5
2 o
(3» 8
4) 10

If the sum of roots of the equation
b} . ) .
x- — bx — ¢ =0 is same as the sum of

their squares, which one is true ?
(1) br+2c=b

(2) b +b+2c=0

(3) bX+b =2c

(4) bl-b-2c=0

A triangle has area x? + 2x and one
+ 2). The
corresponding altitude of triangles is

of its sides is (x

() 2x
(2) x+2
(37

(4) a2

YM
% o

19)

- 58.

60.

5
x~ —bx - ¢ =

2000 WBRIZBOD wYBRCS
ne a’>.ta§a§) 6 RTYBRCINDT Beno-
mﬁrgd, AL SAVADE I TOM BROD-

TOE3 230TONY B0,
(n s

2) o

3) 8

4 10

0 INERNCTTED
TRUNY BRTY) RNETTR THPY
ne oIneny mg@a %’ﬁamﬁ%’d

FFNTYNYY oboshe0 7O ?
(1) b2+2c=b

(2) bX+b+2c=0

(3) bi+b =2c

(4) b*-b-2c=0

2,080 SpRE DREPBEY (x* + 2v)
B ‘BT wow T (v + 2)
&SNS, 83 2RI DYT ZTRY

(1) 2x
() x+2
(3) «
(4) /2



61.

63.

% PS

A 5-digit number a, b, c, d, e is such
that the 6-digit number a, b, ¢, d, e, |
is the product of the 6-digit number
1, a, b, c, d, e and 3. The sum of the

digits of the number a, b, c, d, e is

(1) 25
2) 26
(3) 27
(4) 28

A town has total population of
25,000 out of which 13,000 read the
Deccan herald and 10,500 read The
Times of India and 2,500 read both
papers. The percentage of population
read of  these

who neither

newspapers is

(1 15%
2) 14%
37 16%
@) 10%

A solid is in the shape of a cone
standing on a hemisphere with both
their radii being equal to 1 cm and
the height of the cone is equal to its

radius, the volume of the solid is

2
3
)
(2) %n 0 i
4 Y’\(b
3) 3m UUSIPRY
UBURY
4) = o

62.

6 030D '.35083zs a,b,c,d, e 1 o3
l,a,b,c d e 85333 3T meae)?a)
=IA3. 5 @odod 7=1:’083ZS a,b,c.d e

oﬁ@&d 90BNG afJag
(1) 25
() 26
(3) 27
(4) 28

[HFZ R AT 2583%083,00T0%
2,00 TIRTE 13,000 BT FFHT
C2leply] B3 Fody, 10,500 wITY O
8, ep® wokode’ ALK Jovens)
=HF 2,500 253 IORR BB

zudaag& oD/ ADIALe) zsam’os%oja
Be3 aagda’gs 23 DT a‘%@ﬁ@@
2.TROY ?

(1 15%

2) 14%

3) 16%

4) 10%

20000 PIgBow Zlnt g VoIl
63 Bodey o2odd. wNSET
%2357\’% lem &H3) BoBNS DTTH

%“5%’5 RSN, AR e]
Fg2od PIFUD
2
() 3¢
|
(2) 37 ,@;
4 ro < 1\"‘*3 |
© 2
; , 5’0 ‘;; 3
4 = w



64.

66.

67.

e3))

(@a+b+c)d-al-bi-3=
(1) (a+by(b+c)(cta)
(2) 3(a+b)y(b+c)(c+a)
(3) abc(a+b)(b+c)(c+a)
(4) 3abc(a+b)(b+c)(c+a)

If the length of the chord of a circle
is equal to the radius, then the angle
subtended by it at the centre is

(1) 30°
(2)  40°
(3)  60°
4) 120°

In an isosceles triangle AB = AC
and side BA is extended to ‘D’ such
that AB = AD, then the measure of
ZBCD is

(1) 90°
(2) 70°
(3 60°

(4) 45°

On a road, three consecutive traffic
lights change after 36, 42 and 72
If the
switched on at 9.00 am, at what time

seconds. lights are first

will they change simultangrasly ?

(1) 9:00:306 W

(2) 9:08:24 T et
% 2

(3) 9:08:0

4
v
@ 9:00:18 (" @

64.

65.

66.

67.

(a+b+c)t-al-bi-c?=
(1) (a+b)(b+c)(c+a)
(2) 3(@a+tb)y(b+c)(cta)
(3) abc(a+b)(b+c)(c+a)
(4) 3abc(a+b)(b+c)(c+a)

2000 FBRY ‘2 T WG e,
ADTNFS, Wy Feonmd
YVOED EDERVE FRET

(ry 30°

(2) 40°

(3) 60°

4y 120°

BT 32w AB = AC
DT BA @Sy D =3
AB = AD emd@od FQad.
ToroBT £LBCD o 9¢/d

(1) 90°
2) 70°
(3) 60°
(4) 45°

2,000 THODE) Hoe3d dearisd 30,
42 33y 72 BNV WHE-
DN WHEUITHIA. DTSR, BTV
23901 9.00 am noednt 2I¥rdsed
TRRES, oINT FDHOHF B
RHSs WEUAHIA ?

(1) 9:00:36
(2) 9:08:24
3) 9:08:04
“4) 9:00:18

% PS



68.

09.

70.

=% PS

The g‘ (p. q € z,q#0) torm of 1.999

... 18

T
H 10
L 1999
) To00
@ 2

9

The roots of the equation
x? —2av + b? = 0 are equal if

(I) a=zxb

If3A :[ _69 3 } then —2A =
-6 0

ST o}

(7) () 0} (\

= _ _ I\
L —18 6 b

| -40 ‘VA

G | e 2} 4 Qx
_ v Lb
4 0

@ | _z} <&/\‘ts

22)

68.

69.

70.

1.999 .... andT g(p, qe z,q=0)

Lo

M 1o
1999

- 1000

3) 2

4 ll

@ Iy

¥~ 2ax + b2 = 0 BDeITHT
SIRUND Tq’mmmg’d’ ey,

M a=zb

A
o
N’
o
I
H+
)
<

F_6 0
M |3 6}
60
@) | g —6]
C_4 0
() | 2}
T 400
@ | —2]



71.

72.

The length of each side ot a square is
equal to the length of equal sides of
an isosceles right triangles. The area
of a square is how many times the

area of the triangle ?

1
h 3
2 2
1
) 3
4) 4

If the mean of a and 1/a is ‘P, the

mean of a’ and 1/a3 is

P(4P> - 3)
(N 3

(2) P@AP2-3)
3) P}

4 Pi+3

If the average of a, b, ¢ is | greater

than that of a & b, then the value of ¢

(1) Greater than ‘3’ by average of
a&b.

(2) Lesser than ‘3 by average of a
& b.

(3) Greater than *3” by average of
a, b, c.

¢

(4) Lesser than ‘3’ by average of

a, b, c.

(23)

71.

72.

©02)300S m‘ﬁa@smwa EFAS A

HEDLTOTONG [LFita tneYa o tvpial
a:frfsws;)l T3ATTIN INET

DACEIETY B2DWT DReET

() % (eqﬁsw%dagcﬁ)

(2) 208008
(3) %Ua&mﬁ

(4) 403033

a T 1/a NY SRGE ‘P'ead, at
DR 1/a’ Ny m;gsab

P(4P> - 3
(1 ( : 3)

(2) P(4P2-3)
(3) P}
4 P¥+3

a, b, ¢ ¥ RoROOH 2 & b 7Y

RTIRON0S | &N BTS¢

S o3e3

(1) a3 b 1Y FoIRONOS 3"
.

(2) a & b 1Y FOIRONCS *3°
TR,

3) a. b, ¢ ny
Gtk o

4) a b, ¢ ne
FR.

HOYADACE ‘3

ROIROACE ‘3’

+ PS



N l O 2 2
74. IfA= 0 1 , then A~ X A~ =
| (4 0]
M Lo 4.
4 4]
@ |22
0 47
) 14 4.
1 0
) L0 1
75. A student is declared to have passed

76.

(24)

in S.S.L.C examination if he passes
in all 6 subjects. The number of

ways in which student can fail is
(1) 63
(2) 62
(3) 60
4) 53

The shaded region in the Venn
diagram represents.

A B

, . \\

() A-(B-A) Q’\c
\

2 A-(A-B \

) (A-B) % |

3) B-(A-B) xO

4) (A-B)-(B-A)

74.

75.

76.

T\
A

[0S]

[§S]

—~
(V8]
~—
r

S N
& b

1
@ Lo

B33 IOMBODY wry, IBE
VZEEHE TR Y 6 DHODNYY
Tomomedesd. HMART WS
BDIEOE TMIETET ATV Lot
mcjéa’ﬁvo

(1) 63

2) o2

(3) 00

(4) 53

3,  Teandgm®  gdoegs
2Ty DTS, RAVRIBE ?

A B

(1) A-(B-A)
2) A-(A-B)
(3) B-(A-B)
(4) (A-B)-(B-A)



77.

78.

79.

80.

If the standard deviation of scores
1.2,3,4,5is 1.4. What is the value
of standard deviation of 11, 12, 13,
14, 15?

(1) 1.4
(2) 2.8
(3) 14
4) 28

4 . .
In AP m" term is ‘n’ and n'" term is

‘m” where m # n, then p"

term is
() n+m-p
(2) n-m-p
(3) n+m+p

4) —-(n+m+p)

If p*, q" and ™ term of an AP are
a, b,c respectively, then a(q —r) +
b(r—p)+c(p-q) =

(1 o

(2) a+b+c

(3) ptq+r

(4)  pqr

nC, B

75 is equal to

nPr N
' | 2

b

1 P
2 7
@
4) r

(25)

77.

78.

79.

80.

1,2, 3,4, 5 S,TY0TNY TST
RNBOS 1.4 33 11, 12, 13, 14, 15

TEY0TINY TIIF 23S
(1 14
(2) 2.8
3) 14
(4) 28

A203T Beaond m Je I v’
DH n e IF ‘m’ 2® m #n 833,
p 3¢ T3

(I) n+m-p
2) n-m-p
(3) n+m+p
4 -(n+m+p)

RS03T FeBoDY p, q 1R r e
[N BN a, b, ¢ nMeanss
BIMOBTS a(q—r1) +b(r—p) +c(p-q) =

(H 0
(2) a+tb+c
(3) p+q+r
(4) pgr
"C, B
wp, ORI,
l
M 3
1
@ 7
3) !
4 r

%+ PS



81.

82.

84.

%+ PS

(26)

Methodology
Physics and Mathematics

‘Top down content arrangement’ is

related to

(1) Instructional design
(2) I0TAQB
(3) Preparing Question Paper

(4)

Programmed instruction

The expected learning outcomes of

Mathematics expressed in

operational, measurable and
behavioural term are known as
Instructional Objectives
Objectives of Mathematics
Aims of teaching Mathematics

Teaching Points

While designing a question paper

items should be written

(1) Before writing Blue print

(2)  After writing Blue print

(3)  Along with writing Blue print
(4) Without Blue print

The specific behavioural term
‘predicts’ belongs to

(1) knowledge

(2) application

(3) skill

(4) understanding

81.

82.

84.

‘ondeeEn TG dRoD
BeeEs’ and, RowodRE.

(1) 2ReETD TR

(2) I0OTAQB

3) TBBE FoId?d

4)  BRPINT Loy
TEIRENTTE,  WIowIET

Tore SIET IENYY FITRAE
nees aa‘i o wdes 3 3OT Fond
BAD

(1) 2deeEzo LOgesned

(2) mésa:@ = eugesned

(3) NedB ey MDNEd

(4) BReZoTND

B3BET O TERPIDTN IZNG

U SRRTYD

(1) ed SBo» 331 @002l

2y ed JFod T30 To3T

(3) ed XS TS3oD
. BR302d

@ ed B, mydodbe

‘BANRD’ 20 3&9&% =3[ BT
33 YN 03P TF, HOWOPAE ?

(h =8

2) eaasdosa
(3) @3@5
(4) 29H0?



85.

86.

87.

88.

The *“Concept Attainment Model”
(CAM) was developed by

(1) Bruner
(2) Piaget
(3) Ausubel

(4) Dececco

The basis for selecting a suitable
method of teaching should depend

on
(1)  Subject

(2) Teacher’s ability

(3) Instructional objectives

(4)  Availability of Teaching Aids

Which of the following programme
is suitable tor learning skills ?

(1) Linear programming
(2) Branched programming
(3) Mathetics

(4)  Skip Linear Programming

The book “Sidhanta Siromani”
(Head Jewel of accuracy) was
written by the Mathematician

(1) Aryabhatta

(2) Bhaskara

(3) Brahma gupta

(4) S. Ramanujam

27

8s.

86.

87.

88.

“TOBUROH  WFIod  Smd”
(CAM) 03339=l wﬂ)%@pm’@%daﬁd&

(1) 2pIo®
(2) o3
(3) emeies

4 @méém

BB ReFT Ao 208,08
%08 VDT 8HITH) BTOODI-
DV 90T

(1)  A&TWoD (Subject)

(2) éa‘di?d N—awaqﬁés

(3) dneepao eSS

(4) WLBrepdecsBocony ua,ié'e’

3YNT 0IRE ToDETT TBUNY
303 =eg ?

(1) =L 3=oons

(2) IS ZZPNS

(3) SRFL,

(4) 2z "oed ImPON

%cygoé dB0ea0ed (Head Jewel of
Accuracy) Q02 THOFTRY W3D

N3 397 %
<@

(1) wodeafey

() RS

() wEg
(4) IXF. TIEIONT0

+ PS



89.

90.

91.

92.

% PS

The technique which help to fix the

knowledge in the minds of pupil is
(1) Oral work

(2) Written work

(3) Drill work

(4) Home work

Who among the following did work
on ‘Kalakriya on time and its
measure’ ?

(1) Aryabhatta

(2) Brahmagupta

(3) Bhaskara

(4) Ramanujam

Which of the following stages are

related to  ‘guided  discovery’
method ?
(1) Content analysis, Learning

experience, Learning outcome.
(2) Learning experience, Learning
outcome, Evaluation.

(3) Entry Verbal
direction, Terminal performance.

behaviour,

(4) Examples, Generalisation,

Definition.

The maxims of teaching used in
“Analytic Method™ is

(1) Particular to General
(2) General to Particular
(3) Known to Unknown

(4) Unknownto Known

(28)

89.

90.

91.

92.

DRRENY HIYRY ISR
édﬁ@%w THo0HN S0
WRepTo B8,

(1) 30T TR

(2) 2TIAN FUR
(3) ©RR FUR
4) =S 3un

TaHod &R 293 WRAS 0D
Tale} &)ﬁ FUE TRV

N e;soﬂa&'z,ié%
@ wErE
(3) WIRS

(4) TSRO

g5 UNSPYNYD ST ToSNH

NRJeeds R LTDD ﬁzgéﬁ

To0HRD ?

(1) omod oFews, sOIoL
s, 3OT FY

2) 3OI0» VS, 30T FO,
aﬁ‘ae)éma’ﬁ '

G) @3 [eS,  SPDE
SINEBTER, RQT
FIODE VTE BB

(4) SOTITOB,  WISPALTTD,
AONRTH

EALAEH D 5%@053@ WYRTOT

2Jeepmo BRT,

(1) QABEFROT WBRZE BN

(2)- REOBR0T AREFT 33N

(3) TRSHPBOT Re3YE
BN

(4) Re3LTEOOE RGTH 1edal



93.

94.

9s.

96.

Which Psychological law is involved
in giving ‘Home Work”

(1) Law of Readiness
(2) Law of Use
(3) Law of Effect

(4) Law of Disuse

Which of the following is not a
characteristic of scientific attitude ?

(I) Keen observation
(2) Open mindedness
(3)  Critical thinking

(4)  Beliet'in superstition

Which of the following method is

most  suitable to  arrive  at

generalisations ?

(1) Inductive method
(2) Deductive method
(3) Project method

(4) Lecture Demonstration method

Which of the following is not a part
ot Glacer’s basic teaching model ?

(1) Instructional objectives
(2)  Learning experience
(3) Feedback method

(4) Content to be learnt

93.

94,

95.

96.

aba’xoeazsgdcs o3 AT
SFToDY @I Fun’  Jer-
MO ?

(1) %Cga QO

(2) evTodeen doded

(3) OO NI

(4)  DTodeen dodeH

VRGO oY
DIRRTE OF 0y ?

(1) &z Z)ei::ﬁ

(2) 33T DRy

3)  IDTETF 2303

(4 DVRESeDZond DR

ﬁm T

mmbé%’a?:bﬁ 0T TIJL B
NS o apes SRR
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(1) ORI BG3

(2) ANDI ao“gé

(3) oSeexme wcgé

(4) VTR TF8 50 Aos
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DRWLNRE  Begd  SRIDoD
RN ?

(1) 23eegdmo pgesnisd

2) 3O3H wIe[red

() BmRLE DR
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97.

98.

99.

100.

+ PS

Which of the following class of
objectives comes under Psychomotor

domain ?

(1) Analysis

(2) Appreciation
(3) Imitation

(4) Understanding

The important components of a
Question paper’s blue print are
(1) Content, Level of difficulty,

Marks.

(2) Content, Objectives, Type of
questions.

(3) Content, Objectives, Difticulty
level.

(4) Content, Level of students,
Objectives.

Studying conventional model is the

first step of which of the following ?

(1)

Preparing Improvised

Apparatus
(2) Preparing Question Paper
(3) Preparing Project
(4) Lecture Demonstration
To teach the topic ‘x-rays’

effectively, the most suitable method

is

(1) Heuristic method

(2) Lecture Demonstration method
(3) Deductive method

(4) Problem solving method
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